20179 = =0l& e A

: 200 M4
2 210 BAFMASY
& 212 AlBE2Y (s )
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
e A 114,662 96,460 18,202
200 AI2l#el 91,600 74,600 17,000
210 BAXMe 5 88,000 30,000 58,000
PAVRUNE=2= ] 88,000 30,000 58,000
212-08 JIEIAIR E 88,000 30,000 58,000
[ 283 ] 88,000 30,000 58,000
<AGBLTHB > 88,000 30,000 58,000
OZANZ BUHAL ABZ ¥ 43,000
O2FAI +UZ ¢ 45,000
220 LAIE M5 3,600 44,600 A41,000
224 J|EF 2 3,600 44,600 A41,000
224-06 19 ¢ 3,600 44,600 A41,000
[ Lersl A ] 3,600 44,600 £41,000
< AGBL AP > 3,600 44,600 A41,000
OSSMA AISX WD, 45 AIS ¢ 3,600
500 EX3 23,062 21,860 1,202
510 2 DB X3S 23,062 21,860 1,202
511 2N2X3S 23,062 21,860 1,202
511-01 22X 3 23,062 21,860 1,202
[ Lersl A ] 23,062 21,860 1,202
< AGBL AP > 23,062 21,860 1,202
OB HZ HEA HEBRR(ZY) 23,062
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SN RGBT AR
M AAHUTHE 29
Sl SHASES N CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 3,150 1,600 1,550
01 At 22l 3,150 0 3,150
OSAEE =gz P4
150,000& = 3JHEF = 47| 1,800
OER2 SAHE 2AM 2=¢
30,000& = 3% = 102l 900
OER SAEE =23 74l
45,0004 = 103 450
301 gt d= 2,160 2,560 A 400
1MIIEBESS 2,160 0 2,160
O=AEE NASAA AHIEAS
10,0008 *» 3 3Bt * 6 = 47| 2,160
HE/HE8 SHud 1,320 1,050 270
201 Let24d] 1,320 1,050 270
01 At 22l 1,320 0 1,320
OZAt==g 30,000& = 3AIZt = 4H « 23] 720
OZ&HlE # 300,000& = 23l 600
SN2 =H AL 2S 16,000 10,000 6,000
201 Let2d] 16,000 10,000 6,000
03 & Ar2 I 16,000 10,000 6,000
O=AM2 =|HM A A 10,000
OEAMa =M A==2H 2,000
OSHBFL L SN 2 A+ 2,000
OEHBE U SHO 2 #A=2Y| 2,000
FaE SH B 2F 1,200 2,500 A1,300
201 ¢er24| 1,200 2,500 A 1,300
03 A2 Z Hl 1,200 2,500 A 1,300
OZ A== 100,000& = 5 = 2A|2t 1,000
OdME ENX 2SI 10,0008 » 20& 200
Zstgs A5 149,802 157,035 AT,233
SHE 29 z2tel 39,842 66,835 A 26,993
101 @124l 34,342 61,335 A 26,993
04 JI2ZtHZ22HEE = 34,342 61,335 A 26,993
OZHZE ANLZFHIKA Al 34,342
-Jl2s 65,0003 * 1989 » 250 16,250
-J|Z=g 65,0003 » 1& = 52z 3,380
—HENS 65,0008 * 1% = 7 455
B ELES
12,190& = 30AI2t = 1H = 128 4,389
- =AM 5,000& = 18 = 250 1,250
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SN HYEUS
MY NYBUCAHE 29
ol
21

ool Mol TAHB B X4 (B9 ®R)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
OFEAZHIEY = 150,000& * 12& 1,800
Ooauzx=&zel 200,000& = 123 2,400
O=22xd sA2el 13,000
O =AMI| B AN HIIAIE 2 AtHI
1,320,000 = 13l 1,320
otz &8s =4 5,000
OHEA FJIIIEH el LA
150,000 * 9 1,350
OQHLHAIAICH == 400,000& = 1094 4,000
O=XgdH dAEX 20,000
Odue)] RIE=+22] 128,000& * 5504 7,040
OHLIIAH 8,000
O&JIIA HHALX & HIISA 8,000
307 glz2tol & 191,691 186, 107 5,584
05 RIZHRIE 3 191,691 186, 107 5,584
OFAN HARE 228X 191,691
405 THobH S 12,750 1,400 11,350
01 et EFFHSHI 12,750 1,400 11,350
oolEXd AAX W 12,750
S A2 EEAY 24835 8,480 7,580 900
201 Let24d] 3,080 2,380 700
01 At 22/l 1,880 1,180 700
OZHBSYANS &4 25
70,000& = 10Y 23] 1,400
O23 Mol ¥ ST A2 sl &4
80,000& » 3Y¥ « 23] 480
02 324l 1,200 1,200 0
O=ZMZ83l &35/8(38) 400,0008 * 3&tAl 1,200
202 Odl 3,400 3,200 200
01 = LH 4 Hi 3,400 3,200 200
Ozelgd dFFAAHI 3,400
203 YR =2l 2,000 2,000 0
03 A MFAH S =AY 2,000 2,000 0
OEHZEY S48 ABETA2ETY) 2,000
tza 29 116,813 295,379 A 178,566
101 @124l 77,759 225,046 N147,287
04 JIZHHZ2Z2XNSE+ 77,759 225,046 N147,287
OFeld AFMYREX el 48,411
-Jl=s 51,7603 = 250& » 29H 25,880
- ResLdsd 51,7603 = 53 » 29H 5,487
—-ox BA=3 51,7603 = 152 »2H 1,553
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ool Mol TAHB B X4 (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-y HZAYH| 5,000& * 2502 * 29 2,500
- S22 5,000& * 250 * 29 2,500
-AEE = 4,171
-g532 37,919,360 / 128 = 24 6,320
OFYLIOEEY ol 2d|
6,470& * 7TAI2F » 108Y =6YH 29,348
201 LEt2 Y| 28,554 25,733 2,821
01 At 22l Yl 11,900 11,900 0
OSMHMIIAIE 2| 1,100& = 2,0000H 2,200
OSANIAINE ZTEHE Zeteles 22|
100,000& * 202 2,000
OEA2 89 AR £2H (M2, s3Fee
Z Ss) 2,700
OPCEE ¢ AR2F 24| 2,000
OCUXEXx=za &Hl =2ldl 3,000
02 =294l 16,654 13,833 2,821
OENE2IANAEY SANELES
153,910,000& * 7% 10,774
O2J|8H)| de 22
55,000& = 8§ ~ 128 5,280
OUEKAEH SAEZH| 50,000& = 12& 600
301 dEtE A= 6,800 6,800 0
11 IIEtE A2 6,800 0 6,800
OXNASAMI 243 10,000& * 29 * 340 6,800
405 XHoHF SHI 3,700 37,800 A 34,100
01 JtMtE = S F SHI 3,700 37,800 A 34,100
O&clAa HREZ2H 2
2,000,000 * 14 2,000
OZAEtdgsH(E5d )72 700,000& * 14 700
OEANMEANE M 2L 500,000& * 24 1,000
NGRS 132,680 111,480 21,200
201 L2 Y| 22,480 22,480 0
01 At 221 22,480 22,480 0
OXtgal AZ2 2l 300,000& = 12& 3,600
OXza &X F2Hl 10,0008 * 905 = 128 10,800
OXgal Helss 7l 8,080
-H2E ¥ S 4,000
—RFIDIIIH 60& * 8,0000H 480
—RFIDEH O 4503 * 8,0000H 3,600
202 04| 3,600 2,400 1,200
01 2LHOHI 3,600 2,400 1,200
OogegyY g2F=XA| 3,600
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ool Mol TAHB B X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
405 XHoHF S HI 106,600 86,600 20,000
01 AL ESFH S 6,600 6,600 0
OHIZ= A (OVD,38F) Hl 30,000& * 22004 6,600
02 THRI 100,000 80,000 20,000
O&M el 10,000& = 10,0002 100,000
SBEAMZ A2 AFXA (L) 59,341 60,985 A1,644
= 23,062
Al 36,279
101 @124 dl 53,641 57,385 A3,744
= 20,212
Al 33,429
04 JIZHHZ2XNESE S 53,641 57,385 AN3,744
OO0kt H&E2F elAH| 44,950
-JI22 6,4708 * 5.5AI2 » 2372 * 49 33,735
= 14,916
Al 18,819
-REsgsd
6,470 * 5.5AI2F = TAl2t « 53 + 49 7,545
= 2,085
Al 5,460
-0t BEANZA)
6,4702 * 0.5 = 1Al2t » 237 * 29 1,534
SN
6,470% * 5.5A12F » 152 * 49H 2,136
2 502
Al 1,614
O4l 2= 44,947 ,070& * 11% 4,945
= 1,144
Al 3,801
OE&= 3,746
= 1,545
Al 2,201
201 Let24d] 5,700 3,600 2,100
= 2,850
Al 2,850
01 At 22/l 5,700 1,800 3,900
Oooft2dg 228 P 900
2 450
Al 450
oofztZ=zyd o S22 2949 4,800
= 2,400
Al 2,400
HHSAHH (NYBLEAD) 198,297 199,799 A 1,502
Jl23l 198,297 199,799 A 1,502
JlE2&l 198,297 199,799 A 1,502
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